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QUESTION 1

What is the valid shard range for an object DN? 

A. 1-64 

B. 1-16 

C. 0-15 

D. 1-32 

Correct Answer: D 

 

QUESTION 2

Which two policies can be set within the vswitch policies of an Attachable Access Entity Profile on 1.0? (Choose two.) 

A. PortChannel Policy 

B. Monitoring Policy 

C. CDP Policy 

D. LACP Policy 

E. VLAN Policy 

Correct Answer: AE 

 

QUESTION 3

Refer to the exhibit Which two statements about this managed object are true? (Choose two) 
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A. This object is part of the concrete model. 

B. There are endpoints with encapsulation vlan-2230 in the EPG name "web-server" on node 101. 

C. This object is part of the resolved model. 

D. This object is part of the logical model 

E. This object represents an FPG named "web server" in tenant Prod. 

Correct Answer: BC 

 

QUESTION 4

Which packets are counted after the atomic counters are configured? 

A. packets that are switched in the hypervisors 

B. packets that are locally switched 

C. packets that are switched via AVS 

500-601 VCE Dumps | 500-601 Practice Test | 500-601 Study Guide                                3 / 4

https://www.passapply.com/500-601.html
https://www.passapply.com/500-601.html
https://www.passapply.com/500-601.html


https://www.passapply.com/500-601.html
2024 Latest passapply 500-601 PDF and VCE dumps Download

D. packets that traverse the fabric 

Correct Answer: A 

 

QUESTION 5

Which messaging protocol is used by the vPC peers to communicate with each other? 

A. LLDP 

B. CFS 

C. ZMQ 

D. VPCT 

Correct Answer: D 
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